Unbounded LPs  (4.8 )
Maximize Z =   x1 + 2 x2



    2x1 -    x2  < 20



     x1  
  < 50

Simplex table: 

z     x1     x2     x3     x4     rhs    BV               Solution (0, 0, 20, 50)

 1   -1    -2     0    0     0


 0    2    -1    1     0    20      x3      (Could add ( amount of x2  and still keep x3 > 0 --> z = (
 0    1     0     0    1    50      x4

   
              (
Suppose you  make x1  basic and move the other way

z     x1     x2     x3     x4     rhs    BV              Solution (10, 0, 0, 40)

 1    0   -2.5  .5    0    10 


 0    1   -.5    .5    0    10      x1      

 0    0     .5   -.5    1    40      x4            (

   

              (
z     x1     x2     x3     x4     rhs    BV              Solution (50, 0, 0, 80)

 1    0     1   -2    5    210 


 0    1     0     0    1     50      x1      

 0    0     0   -.1    2    80      x4            (  Same issue as above

   

                   (
